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‘P$Q’° means ‘P is smaller than Q’

‘POQ’ means P is greater than Q’

‘P#Q’ means P is equal to Q’

‘P@Q’ means P is either equal to or greater than Q
‘P*QQ’ means P is either equal to or less than Q
Statements: R@ S@TOUOX;TSVSW
Conclusions:

I. ROX

II. X$W

if only Conclusion I is true

if only Conclusion II is true

if either Conclusion I or II is true.
if neither Conclusion I or II is true
if both conclusion I and II are true
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‘P$Q’° means ‘P is smaller than Q’

‘POQ’ means P is greater than Q’

‘P#Q’ means P is equal to Q’

‘P@Q’ means P is either equal to or greater than Q
‘P*QQ’ means P is either equal to or less than Q
Statements: E#FS$SGSH; G @ I

Conclusions:

I. HOI

II. Ewl

if only Conclusion I is true

if only Conclusion II is true

if either Conclusion I or II is true.
if neither Conclusion I or II is true
if both conclusion I and II are true
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‘P$Q’° means ‘P is smaller than Q’

‘POQ’ means P is greater than Q’

‘P#Q’ means P is equal to Q’

‘P@Q’ means P is either equal to or greater than Q
‘P*QQ’ means P is either equal to or less than Q
Statements: AOCBOFOC; DOE ©C
Conclusions:

I. CSA

II. BOD

if only Conclusion I is true

if only Conclusion II is true

if either Conclusion I or II is true.
if neither Conclusion I or II is true
if both conclusion I and II are true
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‘P$Q’° means ‘P is smaller than Q’

‘POQ’ means P is greater than Q’

‘P#Q’ means P is equal to Q’

‘P@Q’ means P is either equal to or greater than Q
‘P*QQ’ means P is either equal to or less than Q
Statements: K*L*M#N; P @ O @ M
Conclusions:

I. KS$P

II. K#P

if only Conclusion I is true

if only Conclusion II is true

if either Conclusion I or II is true.
if neither Conclusion I or II is true
if both conclusion I and II are true
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‘P$Q’° means ‘P is smaller than Q’

‘POQ’ means P is greater than Q’

‘P#Q’ means P is equal to Q’

‘P@Q’ means P is either equal to or greater than Q
‘P*QQ’ means P is either equal to or less than Q
Statements: DS ESFSG; KOF

Conclusions:

I. K*G

II. KOD

if only Conclusion I is true

if only Conclusion II is true

if either Conclusion I or II is true.
if neither Conclusion I or II is true
if both conclusion I and II are true
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X *Y means X is to the west of Y at a distance of 7m.

X#Y means X is to the south direction of Y at a distance of 5m.
X @ Y means X is to the east of Y at a distance of 3m.

X % Y means X is to the north direction of Y at a distance of 9m.

X*Y T 3§ b X, Y o 9fee 3T 7 #Hled &l gl W
X#Yar3iTg & X, Yasa@m%errﬁwmaa?r qt%l
X@Y® 3T g & X, Y qd 3R 3 AT Hr

X % Y &7 37 & T X, Y & 3o e af 9 #fiex E;frqt%fl
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X *Y means X is to the west of Y at a distance of 7m.

X#Y means X is to the south direction of Y at a distance of 5m.
X @ Y means X is to the east of Y at a distance of 3m.

X % Y means X is to the north direction of Y at a distance of 9m.

B@D%V#H@K,

then in which direction is K with respect to D?
a) North

b) East

c) South-west

d) North-West

e) None of these
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X *Y means X is to the west of Y at a distance of 7m.

X#Y means X is to the south direction of Y at a distance of 5m.
X @ Y means X is to the east of Y at a distance of 3m.

X % Y means X is to the north direction of Y at a distance of 9m.

M%N, Q*M,N%G,L*Q

then find the minimum distance between Q and N
(approx.)?

a)V12m

b) V130 m

c)V81m

d) V49 m

e) V100 m
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X *Y means X is to the west of Y at a distance of 7m.

X#Y means X is to the south direction of Y at a distance of 5m.
X @ Y means X is to the east of Y at a distance of 3m.

X % Y means X is to the north direction of Y at a distance of 9m.

S@T*R%M*U,

then T is in which direction with respect to U?
a) South

b) North-West

c) West

d) North-East

e) East
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X *Y means X is to the west of Y at a distance of 7m.

X#Y means X is to the south direction of Y at a distance of 5m.
X @ Y means X is to the east of Y at a distance of 3m.

X % Y means X is to the north direction of Y at a distance of 9m.

E#F*H%G ™I

then find the distance between E and H?
a)V72m

b)9m

c) 3V2m

d) V74 m

e) None of these
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X *Y means X is to the west of Y at a distance of 7m.

X#Y means X is to the south direction of Y at a distance of 5m.
X @ Y means X is to the east of Y at a distance of 3m.

X % Y means X is to the north direction of Y at a distance of 9m.

REM@N*O%P#Q,

then Q in which direction with respect to R?
a) South

b) North-West

c) West

d) North-East

e) East
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Study the given information

carefully and the questions given below it:

In a certain code language,

the symbol for 0 (zero) is% and that for 1 is & There are no other
symbols for numbers and all numbers greater than 1 are written
using these two symbols only, the value of the symbol for 1
doubling itself every time it shifts one place to the left. Thus:’

0 is written %

1 is written &

2 is written &%

3 is written & &

4 is written &% % and so on
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How will 57 be coded as in the same code language?

&% % &&&
&% % % &%
% &% % % &
&&&Y%%&
&&Y%&&%
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Which of the following will represent & &% &% &% ? -

101
103
106
105
98
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&% & & is multiplied to & &% & what will be the resultant?

&% %% &&&E&
&&&YN&Y%&&
&&&Y&&% %
&&Y% % % &&&
&% % &&%&&
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If &%&&%& is divided by &% %& what will be the

resultant?

&% %
&&%
&%&
% %&
Y%&&
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Which of the following will represent 2/5™ of 45 in that

code?

&&Y% &%
&% % &%
&% &% &
&&Y% % &
&&&&Y%
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Eight persons — A, B, C, D, E, F, G and H are sitting on a straight
bench facing North. Each have scored different marks viz. 10, 12, 14,
16, 17, 18, 19 and 20,but not necessarily in the same order. A has not
scored 17 marks. The person who has scored 12 marks is sitting
immediate left to that person who has scored 18 marks. D is sitting
between A and G. Only one person is sitting between the one who has
scored 10 marks and the one who has scored 19 marks. F has scored 19
marks. Only two persons are sitting between B and the one who scored
18 marks. B is an immediate neighbour of F and E. D is sitting
immediate right of A. The one who has scored 20 marks, is not sitting
on extreme end of the row. F is not sitting on extreme end of the row. B
is not sitting extreme end of the row. D has scored 14 marks. H has not
scored 18 marks. A is sitting extreme end of the row. B has not scored
20 marks. Five persons are sitting between A and B.
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TS ik — A, B, C, D, E, F, G 3T H Ueh Hefl o=l U 371 hl 3N 0L
Wé%%lmﬁwamamm%q%l 10, 12, 14, 16, 17, 18, 19
3R 20, AT S TE for T A A BT A T 17 mmqﬁ%q%lﬁm
=RE X 12 stk T TR ¥ o 39 suafw & S 916 et § e 18 i
TTH fRT F1 D, A 3T G o =1 § 93T 21 10 3Tk ITH i dTeT 3T 19 3k
TTH S STt o 1<l ShaloT Ueh 1<k 93T 21 F 7 19 37 UTH fRu 3 B 31X
18 37h UTH i AT Tk o AL hdlol &F Sk o6 2l B, F 3 E &1
fehcaw u=Et 21 D, A & Sk I deT 2l ™ 20 o e fRu ®, T
tfer o cifaw 3R o 78 TeT 21 F Ut & siftar s wadi St 21 Bufe &
T BR U T2 AT 21 D 7 14 37k uTH fRU T H T 18 27k UTH 781 fhu
FNAGEF AT SRR ISTRI B I 20 SiF T T2 fRU I A IR B &
srer i safte 98 2
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A has not scored 17 marks. The person who has scored 12 marks'is
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the

row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

How many person sit/sits between second to the left of G and H?

01. None 02.3
03.2 04.1
05. None of these.
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A has not scored 17 marks. The person who has scored 12 marks'is
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

is an immediate neighbor of E

02. A
04.B
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A has not scored 17 marks. The person who has scored 12 marks'is
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who among following sit at the extreme end of the line?

01. A, F 02. A, C
03.A,B 04. A, G
05. A, E
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A has not scored 17 marks. The person who has scored 12 marks'is
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Which of the following person chooses the number 18?

01.1 02. L
03. H 04. G
05. None of these
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A has not scored 17 marks. The person who has scored 12 marks'is
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who sits exactly between G and H?

01.J 02. K
03. L 04 M
05. Fand L
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A has not scored 17 marks. The person who has scored 12 marks'is
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not

scored 20 marks. Five persons are sitting between A and B.
Who is third to the left of M?

01. G 02. K
03. H 04. L
05. None of these
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